b—

=

HEULAHHEE Sm—ER (IHE8E] 1/6N—>
= & M =5 2 X OE B
2521 2701 4062 4536 6826
JAOy by 2000FHES
o “7 1oo0omiEMEL 10
=
N>sEdHahte
8049 8074 8109 8384 8833
BEMAR—=Y + gy)p(oI-FU—F
AYERY RD— RLShorT—) 1 7036
58 A 35 BEMFIAS
BHAR—=Y - g@)proT-FU—F
 AYERY RD— KLShorT—Ib 3 1024
9%*. B-‘E"- 1 2 EIFIAA%
RKAM—IIR ke #m—revr 3 7115



HE U HinE

BR [HEEHE]

2/6N—>

A

B

X5

5 & A

| BRIEDESIE
HEE

CLODD—EXK

5kg

30

1007

1074

1101

1117

1122

1126

1583

1647

1655

1677

1803

1860

2325

2517

2641

2937

3107

3138

3320

4053

4070

4129

4210

6812

7110

8199

8259

8610

8815

8854




B AB

EEIID)

BEUHME BRR—ER (1HHE) 3/6R—S
2 & " “IE MO H
1421 1436 1675 1782 1892
P RBRE OPIDRE 15 2352 4207 4552 6059 6302
8036 8393 8609 8623 8668
RSAAY R, RO
'MAHALOAE  #s—v#—s—umiw—- 3 1034
NyF, =Tty b
=% . =ER&EE
ZR—YHERY BRFLE 1 4219
IN—TE
rRaRERES Bk0-A (BR 5 1695 2152 2227 4555 8237




HRU Az

Sm—ER [HEEHE]

4/6/~R—

A\
N

~

= & M =5 2
s B> RESE—-2H
I*F 17, ;IIE:II.7 L %
RRERERES pam ~xrFry 1 6515
& B .
I RREEET > KKCEREZHmF I +
-5 % (10,000M34H) 3 2318
NKFYZWHILY KFY—woOpskas
s NUwHITI—H2% Szvkorvse—k 2 1643
EESE Y
. s
|BRR (10,000M353) 2 2714
“ “ 1006 1391 2682 2863 3365
N T iﬁ YE=FRAN 0
4102 4208 6514 7622 8473

ait

89



HEXRUHHE Sm—E

5/6/"R—

= & A2
EXEZEXAMYF (BHEL) &
Z2=N—IUAN—F«s>v | 1 | 1395
SIRU— U\ —hR)
I T7— R—5ITIEI\A
AR N Uty D) 117522
) [7277 Al 7
: 17614
Essential Robot
AN—PMIOAYF
b 12018
Fitbit charge6
AirPods 4 1 3523
=X) 9r—JUAN
= 2 7133 8327
UA>ITSYvS12

=

13

&




OEUHE =m—ER [ETEE|EH] 6/6NR—>
= T AE — -

|FAXYF&IA=A | 4191 1405 1780 7526 7605

O0—>— v b

LIS SZAR—I 5 1760 1865 2382|4205 4629

=3Zh1T

' BR{5% (50,000[%) | 1 7618

AN ES

" &EH (10,000/9%) | - 1129

fhasle 5 | 1305 4064|4111 6137 8856

K% (10,000H4%)

sAEE

‘mas% (s.000my) 5 1296 1385 2162 4017 7514

&5t 29



